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Course Highlights 

 

150+ Hours Live Classes 

58 Online Live Classes of 2-2.30 hours each and 12 Online Workshops (Practice Sessions) of 3-4 hours each 

 

100+ Pre Recorded Videos 

Lectures covering all topics with smart tips & tricks 

 

E-Books 

Understand concepts better through downloadable e-books 

 

Assignments 

Daily Practice assignments to keep you well prepared 

 

Doubt Clearing Sessions 

Discussion board and live doubt clearing sessions to resolve every single doubt you may have 

 

150+ Mock Tests 

40 Full Lengths, 30 Sectional, 80+ Topic Tests 

 

Personalized Mentoring 

1-to-1 regular interaction sessions with our expert mentors offer unparalleled test preparedness 

 

Other Benefits 

Current Affairs E-Books, Questions Box, Interview Process Guide and more 
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Meet Yours Mentors 

 

Abhishek Shrivastava (Quantitative Aptitude/ Data Interpretation/ Logical Reasoning) 

 

Ajit Chautrani (Quantitative Aptitude/ Data Interpretation/ Logical Reasoning) 

 

Sneha Batham(Language Skills) 
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IBPS Clerk Prelims 2017- Memory Based Paper 

(Logical Reasoning) 
 

DIRECTIONS Q. 1 to Q. 5: Study the following information carefully and answer the questions given below: There are 

eight persons namely S, T, U, V, W, X, Y and Z lives on eight different floors from one to eight. Ground floor is number 1 

and top floor is number eight but not necessarily in the same order. S lives on even number floor but does not live on 2nd 

floor. Z lives immediate above X. More than two person lives between V and S. There are five person lives between X and 

Y. V lives immediate above W but live below T. U does not live immediately below Y.  

 
1. Who lives on floor number five? 

 (a) U 

 (b) S 

 (c) Z 

 (d) Ts 

 (e) None of these 
 

2.  How many persons live between W and X? 

 (a) One 

 (b) Three 

 (c) Five 

 (d) Two 

 (e) None of these 

 

3.  Who lives immediate above V? 

 (a) Z 

 (b) T 

 (c) Y 

 (d) W 
 (e) None of these 

 

4. Four of the following five are alike in a certain way based on the given arrangement and thus form a group. Which is 

the one that does not belong to that group? 

 (a) Y 

 (b) V 

 (c) T 

 (d) X 

 (e) W 

 

5.  Who lives on 2nd floor? 
 (a) X 

 (b) S 

 (c) U 

 (d) Z 

 (e) None of these 

 

DIRECTIONS Q. 6 to Q. 8: In each of the questions below are given three statements followed by two conclusions 

numbered I and II. You have to take the given statements to be true even if they seem to be at variance from commonly 

known facts. 

Read all the conclusions and then decide which of the given conclusions logically follows from the given statements 

disregarding commonly known facts.  
 

6. Statement 

 Some Dog are Cat. 

 All Cats are Rat 

 No Rat is Fox.  

 Conclusion:- 

  I. Some Cats are Fox. 

 II. All Catsare not Fox.  

 (a) If only Conclusions I follows 

 (b) If only Conclusions II follows 

 (c) If either Conclusions I or Conclusion II follows 
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 (d) If neither Conclusion I nor Conclusion II follows 

 (e) If both Conclusion I and II follows 

 

7. Statement- 

 No Ris G.  
 Some G is C.  

 No Cis L. 

 Conclusions: 

 I. Some Cis not R. 

 II. Some G is L. 

 (a) If only Conclusions I follows 

 (b) If only Conclusions II follows 

 (c) If either Conclusions I or Conclusion II follows 

 (d) If neither Conclusion I nor Conclusion II follows 

 (e) If both Conclusion I and II follows 

 
8.   Statement- 

 Some Moonis Toy.  

 No Toy is Pen.  

 Some Pen is Bat. 

 Conclusions: 

 I. Some MoonisBat. 

 II. Some Batis not Moon. 

 (a) If only Conclusions I follows 

 (b) If only Conclusions II follows 

 (c) If either Conclusions I or Conclusion II follows 

 (d) If neither Conclusion I nor Conclusion II follows 

 (e) If both Conclusion I and II follows 

 

DIRECTIONS Q. 9 to Q.13: Study the following information carefully and answer the questions given below: Eight 

friends A, B, C, D, P, Q, R and S are sitting in a straight line (but not necessarily in the same order). Some of them are 

facing south while some are facing north.(Note: Facing the same direction means. If one is facing north then the other also 

faces north and vice versa. Facing opposite directions means. If one is facing North then the other faces south and Vice 

versa). 

S sits at one of the extreme ends of the line. B sits second to the left of S. P, sits third to the right of C. A faces north. D sits 

to the immediate right of P. D does not sits at any of the extreme end of the line. Only one person sits between R and B. P 

sits second to the left of R. Both the immediate neighbour of P faces the same direction to each other. Both the immediate 

neighbour of C faces the opposite direction to each other. S faces the same direction as D and A faces the same direction as 

R. S and Q are not a neithbour. 
 

9.   How many persons sits between D and Q? 

 (a)  One 

 (b)  None 

 (c)  Three 

 (d)  Two 

 (e)  None of these 

 

10.  Who among the following pair sits at extreme ends ? 

 (a) R, Q 

 (b) D, Q 

 (c) Q, S 
 (d) S, R 

 (e) None of these 

 

11.  Who sits third to the left of D? 

 (a) R  

 (b) B 

 (c) Q 

 (d) None  

 (e) None of these 
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12.  Who sits immediate right of B? 

(a) A 

(b) C 

(c) R 
(d) S 

(e) None of these 

 

13.  Four of the following five are alike in a certain way based on the given seating arrangement and thus form a group. 

Which is the one that does not belong to that group? 

 (a) A 

 (b) C 

 (c) S 

 (d) R 

 (e) D 

 
DIRECTIONS Q. 14 to Q. 16): In these questions, relationship between different elements is shown in the statements. 

These statements are followed by two conclusions: 

 

14. Statements:  

 A > D > E = P < O < R 

 Conclusion:   

 I. D > P 

 II. R > P 

 (a) If only conclusion I follows. 

 (b) If only conclusion II follows. 

 (c) If either conclusion I or II follows. 

 (d) If neither conclusion I nor II follows. 
 (e) If both conclusion I and II follow. 

 

15. Statements: 

 J> B, K <V<B , J ≥ M, S<J 

 Conclusion:    

 I. J > K  

 II. J = M 

 (a) If only conclusion I follows. 

 (b) If only conclusion II follows. 

 (c) If either conclusion I or II follows. 

 (d) If neither conclusion I nor II follows. 
 (e) If both conclusion I and II follow. 

 

16. Statement: 

 V = F <S< H; S ≥ I  

 Conclusions:   

 I.  H > I  

 II.  V > I 

 (a) If only conclusion I follows. 

 (b) If only conclusion II follows. 

 (c) If either conclusion I or II follows. 

 (d) If neither conclusion I nor II follows. 

 (e) If both conclusion I and II follow. 
 

DIRECTIONS Q. 17 to Q. 21: Study the following alphabetical sequence and answer the questions following it. 

 

A  B  CC D  E  F G  I B  B  E F  G B  B  A C P O B N U C W K 

 

17.  How many C’s are there in the alphabetical series which are immediately preceded by a vowel and immediate 

followed by consonant? 

 (a) One 

 (b) Two 

 (c) Three 
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 (d) More than three 

 (e) None of these 

 

18.  If all the vowels are dropped from the series, then which alphabet will be eighth from the left end? 

(a) C 
(b) B 

(c) N 

(d)  F 

(e)  None of these 
 

19. How many Vowels are there in the alphabetical series which are immediately followed by a consonant? 

(a) One 
(b) Two 

(c) Four 

(d) More than Five 

(e) None 
 

20.  If the position of the 1st and the 14th alphabets, the 2nd and the 15th alphabets, and so on up to the 13th and the 26th 

alphabets, are interchanged, Then which alphabets will be 7th to the right of 10th alphabets from the right end? 
 (a) A 

 (b) C 

 (c) N 

 (d) B 

 (e)  None of these 
 

21.  How many total vowels in the alphabetical series? 
(a) Five 

(b) Ten 

(c) Three 

(d) Nine 

(e) None of these 

 

DIRECTION Q. 22 to Q. 26: Study the following information carefully and answer the questions given below: There are 

eight lottery ticket numbers i.e. 1,5,20,50,100,200,500,2000 which are arranged in a circular arrangement facing towards 

the centre not necessarily in the same order. 200 number is arranged third to the right of  number 5. Odd lottery ticket 

number will not be immediate neighbour of 200 and 50 ticket number. There will be less than ticket number 100 to the 

immediate left and immediate right of  lottery ticket number 100 except lottery ticket number 1 . ticket number 100 is 

second to the left of 5.  lottery ticket number 2000 is second to the left  of ticket number 100. 
  

22.  Which lottery ticket number will be arranged to the immediate left of 500? 

 (a) 100 

 (b) 2000 

 (c) 500 

 (d) 1 

 (e) None of these 

 

23.  Which lottery ticket number will be arranged to the third to the left of lottery ticket number 5? 

 (a) 2000 

 (b) 50 
 (c) 200 

 (d) 20 

 (e) None of these 

  

24.  What will be the sum of lottery ticket number which is immediate left of 50 and immediate right of lottery ticket 

number 500? 

(a) 2100 

(b) 550 

(c) 700 

(d) 2200 

(e) None of these 
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25. Which lottery ticket number are between 1 and 100, when counted clockwise from  lottery ticket number 1? 

 (a) 5 and 20 

 (b) 50 and 100 

 (c) 200 and 2000 

 (d) 1 and 500 
 (e) None of these 

 

26. Which lottery ticket number will be arranged to the third to the right of lottery ticket number 50? 

 (a)  2000 

 (b)    100 

 (c) 200 

 (d)    20 

 (e)    None of these 

 

DIRECTIONS Q. 27 to Q. 31: Following questions are based on the five three digit numbers given below. 

 
267 825 439 691 542 

 

27. If the positions of the first and the third digits in each of the numbers are interchanged, which of the following will-be 

the lowest number after the rearrangement? 

 (a) 691 

 (b) 825 

 (c) 439 

 (d) 542 

 (e) 267 

 

28.  If the positions of the second and the third digits in each number are interchanged, which of the following will be the 

difference between the highest and lowest number after the rearrangement? 
 (a) 320 

 (b) 576 

 (c) 481 

 (d) 371 

 (e) 476 

  

29. If the positions of the first and the second digits in each of the numbers are interchanged, which of the following will 

be the third from the top when they are arranged in descending order after the rearrangement? 

 (a) 325   

 (b) 691 

 (c) 542 
 (d) 439 

 (a) 267 

 

30. What is addition of 3rd digit of highest number and 2nd digit of lowest number? 

 (a) 7 

 (b) 6 

 (c) 4 

 (d) 11 

 (e) None of these 

 

31.  If 1st digit of 2nd highest number is divided by 1st digit of  2nd lowest number, then what will be the resultant? 

 (a) 5 
 (b) 1 

 (c) 2 

 (d) 4 

 (e) None of these 

 

32.  If 2 is subtracted from each even number and 1 is subtracted to each odd number in the number 6321385, then how 

many digits will appear twice in the new number thus formed? 

 (a) Only 2 

(b) Only 2 and 0 

(c) 2, 0 and 4 
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(d) 4, 5 and 0 

(e) None of these 

 

33.  How many letter will be remain at the same position in the word ‘SURNAME’ when they are arranged in the 

alphabetical order from left to right? 
(a) four 

(b) Three 

(c) One 

(d) Two 

(e) None of these 

  

34.  There are five friends Suresh, Kaushal, Madhur, Amit and Ramesh. Suresh is shorter than Kaushal but taller than 

Ramesh. Madhur is the tallest. Amit is a little shorter than Kaushal but little taller than suresh. If they stand in the 

order of their heights who will be the shortest? 

 

 (a) Amit 
 (b) Madhur 

 (c) Ramesh 

 (d) Kaushal 

 (e) None of these 

 

35. How many pairs of letters are there in the word “SUSTAINABILITY” which have as many letters between them in 

the word as in alphabetical series? 

(a) four 

(b) Three 

(c) One 

(d) Two 

(e) None of these 
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